Exam I
1. Osteoid is

A. Areas of bone formation and resorption

B. Areas of where osteoblasts and osteoclasts are localized

C. Uncalcified bone matrix
xxx

D. Regions of calcified bone matrix

E. Calcified bone matrix

2. These cells are destroyed during the process of tooth eruption

A. Odontoblasts

B. Cementoblasts

C. Cementocytes

D. Ameloblasts
xxx

E. Osteoblasts

3. Marfan's syndrome is related to a defect in

A. Type I collagen

B. Elastin

C. (-keratin

D. type III collagen

E. Fibrillin
xxx

4. Ehlers-Danlos syndrome can be caused by mutations in all of these except

A. Type I collagen

B. Procollagen peptidase

C. Lysyl hydroxylase

D. Type II collagen
xxx

E. Type III collagen

5. The dystrophin gene is located on which chromosome

A. Chromosome 1

B. Chromosome 7

C. Chromosome 11

D. Y chromosome

E. X chromosome
xxx

6. A mutation of this enzyme is responsible for Cori disease

A. Amylo-1,6-glucosidase
xxx

B. Glucose-6-phosphatase

C. Phosphorylase

D. (-1,4-glucosidase

E. Phosphofructokinase

7. UVA causes DNA damage via

A. Formation of different forms of pyrimidine dimers

B. Formation of primarily cytosine-thymine dimers

C. Production of reactive oxygen species (free radicals)
xxx

D. Formation of primarily (6-4) pyrimidine dimers

E. Formation of cyclobutane pyrimidine dimers

Exam II

8. One of these processes does not cause a vitamin D-dependent rapid increase in calcium reabsorption into the body

A. Increase permeability of calcium via brush border

B. Increase number of Ca/Na-exchange pumps in basolateral membrane

C. Increase expression of calcium-binding proteins

xxx

D. Opening of calcium channels

E. All of these processes result in vitamin D-dependent rapid increase of calcium absorption

9. One of the following is not true in regards to elastin and collagen

A. Both are major components of skin tissue

B. Both contain hydroxyproline

C. Both can be crosslinked covalently

D. Both are glycosylated
xxx

E. Both are rich in glycine and proline

10. The following mutation in the dystrophin gene may Not cause Duchenne muscular dystrophy

A. gene deletion

B. frame-shift mutation

C. defective promoter

D. deletion of one base
E. insertion of three bases
xxx
11. Muscle cells of McArdle disease patients become more alkaline than normal due to

A. Decreased production of lactate

B. Increased breakdown of creatine phosphate
xxx

C. Increased consumption of ATP

D. Increased intracellular levels of ADP

E. Increased breakdown of glycogen

12. One of the following is not a good reason for using deoxypyridinoline as a marker of bone resorption

A. It is not absorbed from diet via intestines

B. It is not produced during bone formation

C. It is not catabolized before excretion
D. It is almost entirely bone-specific

E. It is in the deoxy form
xxx
13. This is (these are) rate-limiting step(s) in the synthesis of melanin

A. Reduction of tyrosine and Dopaquinone

B. Oxidation of tyrosine and reduction of Dopaquinone

C. Oxidation of tyrosine and Dopaquinone
xxxx

D. Reduction of tyrosine and oxidation of Dopaquinone

E. Conversion of tyrosine to Dopaquinone only

14. One of the following is not a characteristic of Cockayne syndrome
A. Patients suffer from growth retardation

B. Increased rate of carcinogensis
xxx

C. Dwarfims is a common characteristic of patients

D. Increased level of mutations in transcriptionally active genes

E. It is an autosomal recessive disease

Exam III
15. These cells secrete the enamel layer of tooth

A. Odontoblasts

B. Cementoblasts

C. Cementocytes

D. Ameloblasts
xxx

E. Osteocytes

16. Fingernails are hard because of

A. Extensive cross-linking of hydroxylysines

B. Extensive disulfide linkages
xxx

C. High sugar content

D. Significant amount of tough collagen fibers

E. Extensive hydroxylation of lysines

17. A mutation of this enzyme is responsible for McArdle disease 

A. Phosphorylase
xxx

B. Glucose-6-phosphatase

C. Amylo-1,6-glucosidase

D. (-1,4-glucosidase

E. Phosphofructokinase

18. Loss of control of mitochondrial replication is due to

A. Defect in mitochondrial DNA

B. Defect in nuclear DNA

C. Defect in substrate utilization

D. Defect in mitochondrial transport

E. Defect in communication between nuclear DNA and mitochondrial DNA
xxx

19. One of the following cannot be used a s a marker of bone resorption
A. Aminoterminal collagen telopeptide

B. Type I procollagen N propeptide 
xxx
C. Caroxyterminal collagen telopeptide

D. Pyridinoline
E. Deoxypyridinoline
20. If Dopaquinone encounters cellular thiols, the final pigmented product is called

A. Reduced Dopaquinone

B. Eumelanin

C. Dopachrome

D. Pheomelanin
xxx

E. 5,6-cysteinyldopa

21. Cockayne syndrome is due to

A. Defects in general DNA repair system 

B. Defects in excision repair system

C. Lack of Polymerase H

D. Lack of repair of transcriptionally inactive genes

E. Lack of repair of transcriptionally active genes
xxx
